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8-70. y=4(1.75)°
8-71. See below:

a. {(n) = 500 + 1500(n — 1)

b. #(n)=30-5"~1
8-72. d=r(5) and (d + 225) = 2r(5), where d = distance of slower car (km) and r = speed of slower
car. The slower car is going 45 kilometers per hour, while the other car is going 90 kilometers per

hour.

8-73. Sometimes true; true only when x =0
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8-74. See below:

ay-dElo _3c o
box= 2t
: m
cr2= 4

8-75. AC=BC and AC is perpendicular to BC.
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8-76. See below:
a.yes
b. no; most inputs have two outputs

©.no; x =1 has two outputs




